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Which of the following is true/ false/ mentioned in

the passage?



A1l of the following statements may be true/ false
except -+

According to the passage, which is-+?
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Which of the following could be the best title for
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the passage?

What can be a suitable title for the text?
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The main idea/key point of this passage/ Paragraph

X is eee



What is the text mainly about?

The topic discussed in this passage/ Paragraph X
igees

The (first/ last/ third-) paragraph is chiefly
concerned with--:

Which of the following statements best expresses
the main idea of the passage/ Paragraph X?

T PriEHERT, i XGRS ReA B, FE EE AT
iz FHHEELBE 71 B 2 AT R Y

Lo R 38 R 22 2 25 FRATHE BT B 2 e I e ) N A W A
EMEMEEHRRIRE ). HAVREMEHE, rild@H R gy
KA TRSCHI BN TN BARRREHAN R LR, HIX
AGEHERE R A, BT DAEEHERR o i 2 I HE A A HRERR A
PSS AL DAZS

H B 2 U A

It can be inferred/ concluded/ seen from the passage
that--

Which of the following conclusions can be drawn from
the passage?

The passage implies---

The author probably feels like---

What is the author’ s attitude toward:::?
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The word “--+” refers to/probably means-:--

The underlined word in Paragraph X stands for---

Which of the following words can take the place of
the word “-«7 2
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4. She was so i11 that she was put on a respirator
(a device that allows people to breathe when they cannot
breathe naturally).
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